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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 Find out which of the following sets form co-prime numbers. Question ID :9888374539
. w Status :Answered
Frcifaa =t @ 4 Fla-ar a8 AT G G49rdn gl Chosen Option -1
Ans ‘.’1_ (12, 7)
7 (21,42)
3. (3,9
4 (43,129)
Q.2 The monthly salaries of P and Q are in the ratio 4 : 3. If P and Q get an increase of 10% and 5% Question9888374548
of their existing salaries respectively, what will be the new ratio? ID:

Status :Answered

P 3R Q & AMA® das &I =4 4: 3 §1 Fig P3N Q & adA dada A HAw: 10% Chosen,

Option :
er 5% T 9T g5 §, dl 74T eI FAT gm?
Ans ¥ 88:63
2. 6388
3. 45:60
4, 6045
Q.3 The Home Rule Leagues set up in 1915-16 worked as auxiliary units of the ) Question9888374500
i . 1D :
1915-16 # T gHEe oflFl e d @ Fradl g+ SHe & T A FH FAT  Siamus - Answered
of? OCh(')ser?
Muslim League ption :
A
® | AfeeH dr
Indian National Congress
v AR TS HIH
Extremists
3 HAfcariear
British Raj
4 fafeer uor
Q4 Quesi0n0888374530
Status :Answered
Chosen
Option :

1
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Fill u]‘d;‘a'ij E;E;‘Ik with the most appropriate option below.
Ans As mc ing has come to stay, future financial transactions would be based on

techho 02
Poimnt of Sale, .
m;ﬁﬁaﬁ [ & waifis 39gad g &1 Rad T

df Robolics Iy &7 yges dear & o W@ E aftsw ¥ facdw ewla

[N

3 Vaifesq
—Wirelessqﬁla:ﬂﬁ—cﬁ I TR ET?TI
‘.(4_ arIe

Q.5 , an Assamese wildlife biologist won the Royal Bank of Scotland (RBS) Earth Question

19888374506
Heroes Award 2016. ID:
Status :Answered

HAFAAT gea-silae sitg faamer o Ier o 3P Thicds (3R & TH)  Cposen
39T R 3ars 2016 Sfrar Option :
Angoorlata Deka
ST ST
Aparajita Borkotoki

2. FHAUTSAT SRR

Subrata Sharma
g aH

Ans
1

3.
Purmima Devi Barman

._(4.':|ﬁ‘mTad‘raﬁFr

Q.6 Which of the following Vedas contains treatment for diseases? Question ID :9888374498
Status :Answered

e & @- fohe dg & SREt &1 39R e amm &2 Chosen Option :4
Yajur
), TR
Rig
2. R
Sama
3. TH
Atharva
!(4_ 3d
Q.7 HORSE : SERHO : : CURSE : ? Question ID :9888374581

Ans 1. ERCUS Status :Answered
' Chosen Option :4
2. SECRU

3. RCUES

¥4 SERCU
Q.8 K andL can do a work in 15 and 20 days respectively. They work together for 5 days and leave. Question988837 4556

Calculate the unfinished portion of the work. ID:
Status :Answered

K ddT L U FIH HI Hhel A 15 3T 20 & & gamcg &7 a&d €1 9 576 = Chosen,,

Ans

Option :
1Y F1H FLh gol SAld g1 HIH & JHYUT ART S A0ET HITAT]| P

7
Ans o
1. 12
5
#”2, 12
1
3 13
1
4. %

Q.9 Question ID :9888374574

Status :Answered
Chosen Option :2

2
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| [FFIPERE I —— -
Comp- i Marshal &Y
Ans Admil Navy : : ? : Indian Air Force
1. TAT ATl

drey Ai.t'\ Chief Liarshal
vy T dim AR
i P R T P T ] - "? -
CSIER T o T 11 ? : ARE AT e
3 W digH AR
Flight Lieutenant

4 Wellgd olftFeeic
Q.10 A question and three statements labeled (I). (I[) and (IIT) are given. You Question ID :9888374608
have to decide which statement(s) 1s/are sufficient to answer the question. Status :Answered

Chosen Option :2
Question: Can you make an overall assessment of the present level of

stock market index today?
Statements:

L Today, the stock market index has reached lower than the lowest
during the last 3 years.

II. During the last vear, the index fluctuated between 30,360 and
28,255,

IIT. The stock market index touched a low of 27,125 1 the preceding 3
vears.

Select the right option from the following.

d v wed It T FwAa (1), () A () {GE aw g
3Tl ag vt eer § 6 gee &1 3caX det o folw ale-
AUHA-T Faa gATTT B/

WeeT: AT 319 3o WR TR bl & doidAl Tl I

HI Hedihd HL Thd 87
HYa;

I. 3SR SEIR Hdhis Mol 3 9ui & JqGd A
Tt @ ot & agT T g

. foe a¥ & aiua, gaeie # 30,360 3R 28,255 &
1T 3dR-UgId T

. Toer 3 |l # WR TR Fadie o 27,125 &
forerel TaT 1 @3

frmafafaa & & 7 Rwer o)
All the three statements I, IT and ITI are insufficient.
Ans - .
L @ |, 1 TE |, J&r st 2

Both statements I and III are sufficient.

v, wue | 3R T Tt

Both statements IT and I1I are sufficient.

3 @ 11 3R 1 g gared §)

Both statements I and II are sufficient.

4 ®U | 3T 1 g AT g

Q.11 Indian Railways network connects about stations. Question ID :9888374537
Status :Answered
ARCART Yol aAcad eamemT Teersl S SAEdr g Chosen Option -2
Ans 1. 12,000
5 14,000
W3 8,000 3
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4 10,000
Q.12 If TEACHER is coded as 8412745, CHEATER will be coded as: Question ID9888374583
gfe TEACHER 1 8412745 & &9 # 15 faar Sram g, df CHEATER &1 T8 ®9 g1 - Answered
7 FIz faar Srwam? Chosen,,
) Option :
Ans 1. 2714845
2. 2741485
3. 2748145
V4 2741845
Q.13 Select the number which is different from the other numbers given below: Question ID :9888374588
Status :Answered
157, 571, 599, 387 Chosen Option :4
a7 T T S AT A TE 3 TR e B
197, 571,599,387
Ans 1. 571
2. 157
3. 599
vy 387
Q.14 8 boxes of a fruit were purchased for Rs. 9,600. 5 boxes were sold at a profit of 10% and 3 boxes  Questionggoes-,s.-
were sold at a loss of 10%. What is the net gain in percentage? ID:
Status :Answered
Tk el & 8 f3ed 9,600 T H @l A g1 5 Bed 10% F o 9 dur 3 8854 Chosen
Option :
10% &1 gifel 9T 99 SId g1 & e qiaerd 3 &1 §? P
Ans 1. 2.75%
v 25%
3. 2%
4, 225%
Q.15 Hubble’s Law is related to . Question ID :9888374523
.. Status :Answered
gaeT a;r ‘i?zm _ u gEaa gl Chosen Option :3
ea
Ans | FsAT
Sound
2. €afel
Astronomy
V'3 @anfaedr
Ajr Pressure
4 84T & gaE
Q.16 In April 2016, the National Green Tribunal suspended the environmental clearance given to the Question988837 4508
proposed hydropower project in Arunachal Pradesh to save the . ID :N .
No
3tder 2016 & Usdw gig faetor & T FUE & (T FEUTE WA OB Aremoted
. 3 Chosen
wEdifad e fagga ul@lern & fou & a8 gaiawor #Aeqll 1 foleifad & & Option :~
Great Hornbills
Ans I &
1. gle EG
Gayals
, T/
Medicinal Plants
3. 3itwefier otert
Black-necked Cranes
V4 AT I aTel AR
Q.17 GSAT-18 launched by India in October 2016, was essentially a satellite. Question ID :9888374532
. Status :Answered
FFCaT 2016 A 9IRT ¢arT Faifad Side-18 #Aoa: & 3TU8 8] Chosen Option -1
meteorological
Ans

1. Atoa Aae-gaeh
4
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remote sensing

». R&Ae dfa

communication

3

earth observation
4, Iz gdeTor

Q.18 The river 1sland Majuli which became “India’s first and only island district” 1s located 1n - Question
D 9888374493

AGT &diT Aelell, Sl “HRA @ ggell X UHAH g Sren” @« @ g, &  Status :Answered

ChQSen 4
TEora g1 Option :
Karnataka
1. SeAlch
Jammu and Kashmir
FAFH-FHHR
. Himachal Pradesh

3 feAT=e ggar

Assam
vy FEA
Q.19 clicking on mouse selects the entire paragraph by default, while working with text Question
document 1n MS Word. ID:

UH UH a8 % CaEC SIYAC A HF ad GAG ABE A Faw e W Status:l:‘?tzmpted

g fBdlec ¥ & W RA® &1 T9 HLr gl ()C;f;?n
Alt + Single

1. Alt+ [Fara
Triple

PG
Double
3. 5dv¢
Single
4, fgarer
Q.20 The Nobel Peace Prize 2016 was awarded to: Question ID :9888374513
. ! Status :Answered
CIE] arri?r QERR 2016 H Sve GFATed fHAT 4T Chosen Option 4
David J. Thouless
1. 3fas 9. e
Bob Dylan
ICICHICEE ]
Bernard L. Feringa
3 ddls Uel. Hifar
Juan Manuel Santos
, 3T Hepse derw
Q.21 Find the least number which should be added to 1456 so that it is divisible by 6, 5 and 4 without  Question

leaving a remainder. ID:
Status :Answered

96 BIE--BIE FEm A FfSC et 1456 7 sl W aAg 6, 5 AN 4 & A Chosen,

Ans

2

9888374529

Ans

Ans

9888374546

- ﬁ —, %’I Option :
Ans 1. 6
2. 61
v3 44
4. 16
Q.22 Question ID :9888374589

Status :Answered
Chosen Option :1

5
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Choos: R'eptile which 1s not similar to the others in the group given
Ans hE1ﬂi—‘-’:
Va8 e Reptile, Snake

;ﬁ%rfsm W A § 30 g S S T wEe

'i%mTlemd Ao, aigd, |
3. f@Oehelr

Crocodile
4, AIHATS
Q.23 In a class of 135 students, the number of boys is twice that of girls. One-sixth of the boys and Questlon
one-third of the girls failed in the final examination Find the percentage of students who passed
L Status .Answered
the examination. Chosen

135 @il 1 U wa A, a5 F1 TeAr asfEEAl f Gwar f guE §) arffe gfi@m  Option
A 1/6 os®h aur 1/3 asfeal ecdiol @ I 34 o & yfdwad A fifse @

qdi&t 3 Scciof gU 2l
Ans 1. 75 %
2. 71.45 %
'3 7778 %

4, 81.23 %

Q.24 If p and q are in the ratio 4 - 3 and their LCM 1s 36, p + q =? Question ID :9888374545

Status :Answered
aﬁpﬁmqfﬂﬁﬂqﬁﬂl:ﬁmﬂ. g.36 8 dl prg=2? Chosen Option :2

Ans 1. 18

9888374550

4. 12
Q.25 EIMQUY : CGKOSW : : BFINRV : ? Question ID :9888374579

Ans 1. CGKOSW Status :Answered
Chosen Option :4
2. DHLPTX

3. AEIMQU

4 ZDHLPT

Q.26 What 1s the cost price of a product, if the gain in selling 1t for Rs. 27,120 15 13%? Question ID :9888374568
Status :Answered

U 391G 1 A Hed FT1 ¢, Al 38 27,120 T # J9+ 9 13% aTaIaﬁﬂT%’?Chosenoptlon
Rs. 24,600

1. ©.24.600
Rs. 24,000

W, %.24.000
Rs. 22,800

3 .22.800
Rs. 25,300

4 §.25.300

Q.27 The simple mnterest at 10% p.a. on a deposit for 2 years 1s Rs. 4,000. If the interest 1s compounded Questlon9888374562
on an annual basis, how much more will be the amount of interest?

Ans

Status .Answered

TH AT TR W 2 9 F 10% FT aTfF FUROT AT &I A e aren sarst 4,000 Chosen
SR ¥ Al s AT 3O W awEiE € & A @ ar sarer 1 ger & POt
feraett gig grem?

Rs. 200

A
W w200 A
Rs. 240

5 B.240 HI
Rs. 220

3. 5.220 @I
Rs 190
4. $.190 I

6
https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=28&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realattid=1...  6/30


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247 Eooale Play

2/6/2017  https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=2&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realatt. ..

Q.28 The difference between the selling prices of an item at a profit of 9% and 7% was Rs.190. Find Question9888374565
ID:
Status :Answered

T aFq Bl 9% T I S TAT 7% T 9 S°ed § [OhT 7eg A 190 €99 7 = Chosen
Option :

the cost price of the item.

%y
3T R 5 op0M 4 Hed AT STV

ABS %9200
Rs 9,500

W, %9500
Rs. 8,700

3 %.8.700
Rs. 9,000

4. %.9,000

Q.29 Pointing to a photograph a lady said, “he 1s the son of my grandfather’s Question ID :9888374590
only son”. How 1s the person 1n the photo related to the lady? Status :Answered

Ueh Hl%ﬁTEﬁraﬁTngT Gorpet gg Qq;m;} el, “Ug A Chosen Option :4
GIETST & Sl 3¢ F1 daT §°1 aEEdR & =afaa 38 Afgen

FT FAT 1T 87
Grandfather
1. GIaT
Father
2. Toar

Son

3. deT
Brother

TS

Q.30 Which of the following international football stars belongs to Brazil? Question ID :9888374502
Status :Answered

o & | Fla-ar 9g AR ‘!ﬁfﬁﬁ'ﬂ fgerst arefter &1 a,? Chosen Option :1

Neymar

!(1_ﬁ'wFI'IT

Gabriel Batistuta
Marcos Rojo

3H’|ﬂﬁ'ﬂﬂ~_fﬂ'

Lionel Messi

4,%’&’]3?[3:]1#

Q.31 Interchange two mathematical operators and balance the incorrect equation given below: Question ID :9888374587
Status :Answered

16 - 24%x2+10+104=0 Chosen Option :1
gl ITOTdRT TFRFT &1 TAE 399 # ol A’ 7 BT 710 o9 gHiFor &

Hferd &L

Ans

Ans

16 — 24 x 2 + 10 + 104 =0
= and =
Ans ‘(1. . 3T =
+ and x
2.+ ‘ﬁh X
—and +
3. - A +
+and —
4.+ 3T -
Q.32 Question ID :9888374609

Status :Answered
Chosen Option :1

7
https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=28&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realattid=1...  7/30


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaicu47 Eooale Play

2/6/2017  https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=2&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realatt. ..

A question and three statements labeled (I), (I[) and (III) are given. You
have to decide which statement(s) 1s/are sufficient to answer the question.

Question: Find out the minimum number of nurses needed by the
hospital.

Statements:

L There are three shifts round the clock.
II. There are thirteen wards requiring two nurses per shift.
IIT. The town needs at least three nurses per thousand population.

Select the right option from the following.

A u wee 3R e wA= (1), (1) 3R (1) 7w v g
I9F gg For o= § F 9 &1 3o & F AU &lE-
GiihlT-a Fue gaea 2/

Wee: 3EIe H 3HTaeAd 6l Sl oJodadH HEAT aald|
YA

I agt 9l 52 #r de aifert g

. @l g a5 ¢, e ferw gfer arelr g «14t &1

FTERTHAT ¢l

I1l.  Both statements IT and I1T are sufficient pay g-ghay die7 A5l I
AN et 11 3 111 @t e

B T R PP TF T T R S |

Only statement [ 1s sufficient.

forrmf HadT HU | TETT @1 ¥
Both statements I and III are sufficient.
3 @et | 3 11 gt oated g
Both statements I and II are sufficient.
V', Fae | 31 et g g
Q.33 Complete the analogy with the most suitable option: Question ID :9888374576
Rice : Carbohydrate :: Sprouts : ? Status :Answered

Chosen Option :2
aifs 39gFd faFeq I g F qed [ HL

e FEEEIC o HHNT © ?
Water
1. alel
Protein
v 2. Qe
Heat
3. FEHT
Fat
4, 91
Q.34 WWF stands for: Question ID :9888374533
=eod] ST o > Status :Answered
seil Ssed WD T T _ % Chosen Option :2
A Web World Federation
s | 99 des heled
World Wildlife Federation
, dc8 dlZesdlsh heler
World Wildlife Fund
o dcs dASesdsh BUS
World Web Federation
4 des dd Hhalee

Q.35 Question ID :9888374535
8 Status :Answered

Ans
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‘Ponzi’ erhama rafars tg the scam. Chosen Option :3
coal allocation

Ans me_ HicTel &I g2far g1

investment
v, f@der
fodder
3. T
food grain

4, GG
Q.36 “Absolute zero® refers to - Question ID :9888374518
. Status :Answered
HET . dm HI G & Chosen Option :1
minus 273 °C
V| T T 273°C FA
minus 295 °C
AT T 295°C &HH
minus 300 *C
qeF T 300°C &H
minus 255 *C
4 YT @ 255°C %A
Q.37 Which one of the following 1slands does NOT belong to Lakshadweep? Question ID :9888374494
. Status :Answered
f=atof@a & @ sla-ar cdiT datedT ¥ darad a8l 67 Chosen Option ‘1
Minicoy
. et
Kavaratt
2. @alcdl
Neil
3 e
Amini
4. IHEAT

Q.38 Read the following statements and select the option which is NOT Question ID :9888374593

true based on the statements: Status :Answered
Chosen Option :4

Ans

Ans

The cost of six mangoes 1s equal to the cost of four apples. The cost of
eight apples 1s equal to the cost of two jackfruits.

rafef@a soel # 9¢ 3R ag Aeeq gd Sl o« &

og 3T 1 @erg gr @9t Y aerg F e §1 376 dat
#T @1 T Fegal T ard & IS g

A mango 1s not as costly as an apple.

| U 3TH 3dT HGIN el g foldelr U dd|
An apple 1s cheaper than a jackfrt.

, U Ud UH Hegd § TEAT B
Jackfruit is the costliest of all.
3 dcgd 3 Wl # TEw AL g
An apple 1s not as costly as a mango.
', TS T 3dT FEI AT ¢ Foldsl U 3|

Q.39 10 men and 5 women can do a work in 60 days. If one man can do the work of two women, how  Question

long will 5 men and 20 women take to complete half of the work? ID:
Status :Answered

10 9¥Y T 5 Afgen? vF FA F 60 A F QU FL ¢ AR F I o ARABT Chosen
& HE FT Gl ¢, dl 5 To¥ qor 20 ARATY 37 I & I 90T HI QW e A Option

fohdar GHT oaI?
Ans 9

Ans

9888374555
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v 25

4. 50
Q.40 In July 2016, a Russian priest set a new record of flying solo in an air balloon around the World,  Question,
. < D 9888374491
Stat Not
Sels 2016 # U AT UGl of gar & Ieall A 37ehel IS 3LHL fGat 7 S Agempted
» Chosen
{1 GieraT T TRy TR U a1 Rehls S| Option :
Ans 1. 17
v 11
3.15

4.13

Q41 18 NOT a common bitmap-based file type extension. Question ID :9888374528

Status :Not Attempted
T AT [FeAT-3Ted TS <39 UFdesld a6l 8l Chosen Option i

in just over days.

Ans ‘(1_ oDT
2. TIFF
3. PNG

4, PCX

Q.42 Statements followed by some conclusions are given below. Question ID :9888374611
Status :Answered
Statements: Chosen Option :2

A All men are mechanics.
B. All mechanics are engineers.
Conclusions:

I.  Some mechanics are men
I[I.  Some engineers are mechanics.

Find which one of the given conclusions logically follows from the given
statement.

UF FUA A Fo Heay {1 o & @ g
Y.

A. wslt AT AFfE 2
B. gaft #%fas Zeifaar €
s

l. PO HAdfs 7T §
Il o Sy A%faw §)

Fla-gr vy U 710 Fua #1 difes &7 & gred HLdr

Neither I nor IT follows
L e arl s &Il g Sar §
Both I and IT follow

v | 3R 11 et arerer aRa @

Only conclusion I follows

3 hac fashy | 9rele Har &

Only conclusion IT follows

4 Fael fsey || aree #ar §

Q43 Ques;§?9888374557

Status :Answered
Chosen

1C
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15 persons can complete a work in 60 days. If the number of persons is increased by 5, how Option :3

A many 20 dayslier will the work get completed?
ns
15 20 &1 5 17 &1 60 et & U & THha &1 3G wfaaat 1 Fear 5 3 Ta

10 days
grem

TH fehcel T dgel 91 81 SIRen?
2. 10feeT

15 days

CER ST
45 days
4. 45 fe=
Q.44 RMSK : SLUI :: KMFZ : ? Question ID :9888374580
Ans 1. LIHB Sta_tus :Answered
"(2 LLEX Chosen Option :2

3. HKIB

4, LHKX
Q.45 The Rowlatt Act was passed in the year . Question ID :9888374501

YT waT ad 3 iR Rt am Chosen Opion 4™
Ans 1.1921
2.1917
V'3 1919
4,1915

Q.46 K borrowed Rs. P at a compound interest of 20% p.a. for 2 years. Interest amount payable was Question

Rs. 5,280. What was the value of P? ID:
Status :Answered

K2 a¥ & fow 20% &1 aiffe Tafs s W P §99 4R ol g1 SO $T T Chosen

Option :
ufer 5,280 TR off| P &1 #7177 oAm? ption
Rs. 12,000

V| % 12,000

Rs. 11,000

5 & 11,000

Rs. 11,750

3 % 11,750

Rs. 12,500

4 . 12,500
Q.47 The cost price of a set of 2 pants + 4 shirts or 1 pant + 6 shirts 1s Rs. 5,600. A shopkeeper decided Question,

to sell them separately. He sold 10 shirts for Rs. 6,000. Find the amount of profit or loss per shirt. ID:
Status :Answered

29C+4AC & Th UC T 19T + 6 AC & Uh HC & HF Hed 5600 1A g1 TF  Chosen

9888374563

Ans

9888374566

] Option :
GhIFIGN Fog 3TCNT-37e0T a9« &1 A0 &ar g1 38 10 A€ 6,000 94 # =il P
gfa ¢ st AT gife Fr iy FJa i)
A Profit Rs. 1000
ns | €T3, %.1000
Loss Rs. 1000
, gife, $.1000
Profit Rs. 100
3 @18, £.100
Loss Rs. 100
W4 B, %.100
Q.48 QueSEgrfgggggmsw
Status :Answered
Chosen
Option :

11
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Train Ty kmpTl A at 10 am and runs at a constant speed of 60 kmph on a straight track and
Ans =~~she . adistance of 360 km. Train Q starts from B at 11 am and runs towards A ata
¥ |, 40 fepslireer . : : .
con ﬂgroﬂgi?;h wArggses train P at a distance of 120 km from B. What is the speed of train Q7

WTQEBOWIE'ETQETW: 10 Fof Teidr & 3K 60 frdvae i vegae ofd & e
A (50kmph  fel gl oW FXF g B R 9gadr 1 Yo@msr Q i 11 59 fg
B & NI gt ¥ 3k v afd § fig A 7 3R S §1 Yeemd P oA

60 kmph
TE oo fepatiferer & 120 TR 1 Gl IR FEH ©1 TS Q FT oA F4;E?
Q.49 The minimum age limit prescribed for appointment as Governor of a State in India is Question988837 4510
ID:
years. :
] i . Status :Answered
AR A TR T & ToATd & ¥ A giFd & fav [uiRa =@ad g @A Chosen,
Option :
_ avgl
Ans 1. 40
2. 30
3.25
vy 35
Comprehension:

Yogesh 1s taller than Alpesh but shorter than Dharmesh. Suresh is shorter
than Rajesh. Harish 1s not as tall as Alpesh. Ramesh 1s taller than
Dharmesh but shorter than Suresh.

AT U F oar fheq W ¥ ool §1 gRr Ao o
wier §1 gler 3e9er foaer oar 8T g1 AL eefer & o

oo Gl @ oler B
SubQuestion No : 50
Q.50 Who 1s the shortest of all? Question ID :9888374595

m oreT F Status :Answered
= Hﬂarih & Chosen Option :1

Ans ‘;1 . Effﬂ
Ramesh
2. THY

Alpesh

3. 3Teder
Yogesh

4, rarer

Comprehension:

Yogesh 1s taller than Alpesh but shorter than Dharmesh  Suresh 1s shorter
than Rajesh. Harish is not as tall as Alpesh. Ramesh 1s taller than
Dharmesh but shorter than Suresh.

AErer e & oar fheg gy @ ok g al ey 8
wieT g1 gier 3euer Saar oer g0 g1 e g & &«

g @l ¥ oler B
SubQuestion No : 51
Q.51 Height-wise, who is in the middle? Question ID :9888374596

) 3 Status :Answered
3 E”é + 3 TR dra A ES’H') Chosen Option :1
Dharmesh

V' ersfer
Suresh
, Jwr
Yogesh
3. TET
Ramesh

4, TH

Q.52 12 Question ID :9888374599
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Rearrange the jumbled letters to make a meaningful English word and Status :Not Attempted
then select the word which is different from the rest. Chosen Option :--
forsr Jegaffad el @ yaedaftad #Xe UE  arie

FAS ereg 9a¢ IR T 397 § 98 2Asq ga ol AW F
Ans ES E}"CDL
2. LCIYHL
'3 HLTCO

4, MIUNC

Q.53 If & means ‘+°, $ means ‘-, # means ‘< and % means ‘>’ then the value of Ques}g?9888374585

9% 3I&K22552 & 85417, Status :Answered

afe & &1 7+ 8, S FT 3 B, # Fr xR % oA xR, A R (%1?5?2

FT HT &7 §:

9% 3&22%52&85#17.
Ans 1. 8

'!‘"2, 2
3.3

4.5
Q.54 Which of the following sites was added to the list of UNESCO’s World heritage sites in July Question
20167 ID:

Fest 3 & o v @ S 2016 A g B Rea o0t el BN A Chower

enfEer famar arm? Option
Khangechendzonga National Park, Sikkim
| aersTEr UsEr 3, fafEea
Mahabodhi Temple Complex at Bodh Gaya
, #AgEfe #GT aftwr, areern
Kaziranga Wildlife Sanctuary
3. I dedaild AR
Keibul Lamjao National Park, Manipur
4TI SIS TS Seie, AT
Q.55 *Leader of the House’ in the context of Lok Sabha refers to ] Question ID :9888374512
- . \ Status :Answered
ellha & m A et & oiar EF[HSj Eﬂ’r _— Chosen Option :2
Any designated member of the ruling party or coalition
| FcdT®e gol IT Asaded &1 i ol A1 d Heed
v
Either the Prime minister or a Minister who is nominated by the Prime Minister
TIAHAT AT TAHAT GaRiT ATAd HAT
Leader of the Opposition

3. fauer & sar
The President of India

4 FIRT & Tsgafa

Q.56 *Tropism’ mostly refers to the: Question ID :9888374526
. - . Status :Not Attempted
3 STTEIRTRI: GRITar %: Chosen Option :--

Directional growth of a plant

V' e dier &1 ferncas faera

Longevity of animal species
, T geniicat S g
Bird migration

3 gfarar &1 9ar

9888374516

Ans

Ans

Ans

13
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Behavioural pattern of humans

4 AR R & de
Q.57 Arrange the numbers in descending order: Question ID :9888374543
241 1, 443 .395.5 2 Status :Answered

et &Y 0 : Chosen Option :1

2411, 443, 34/5, 542
Ans o] 542, 443,345, 2911
5 35, 443, 532, 2411
3 2411, 443,345, 542
4 403,345, 2011, 542

Q.58 A person pays Rs. 8960 per month towards loan repayment which is 28 % of his monthly salary.  Question,

Calculate his monthly salary. S tID :A )
tatus :Answere

U gfFd FHoT el F o 9fa 78 8960 w9 &ar &, &Y 3ue AMAF dde & Chosen

Option :
28% g1 3T AMES dded &l I0ET HIfST] pHon
Rs. 32,000

V| ®. 32,000
Rs. 34,000

5. . 34,000
Rs. 28,000

3 %. 28,000
Rs. 30,000

4. F. 30,000

Q.59 Sam 1s the husband of Rosy. Geni 1s the mother of Rita and Rosy. Vaz 1s Question ID :9888374592
the father of Rita. What is the relation of Vaz to Sam? Status :Answered

&7 Uolt &1 ofg &1 osf dar 3iv Uoft &1 &7 &1 amr fear Chosen Option :2

%1 a1 g1 arel dF &7 F4T 911 g7
Brother

A
ns L STI'é'

Father-in-law
v, T
Father
3. o
Son
4. FeT
Q.60 On July 25, 2012, Shri Pranab Mukherjee assumed office as the th President of India Question

) D :9888374511
25 Sers 2012 0 20 9uid H@oll of ARd & _ d Usedld & 9 H UGHR FGUT

Status :Answered

Ex Chosen,
Option :
Ans 1. 11

9888374552

Ans

V313

4. 14
Q.61 Which of the following activity is NOT allowed for Payment banks in India? Question ID :9888374534

_ Status :Answered
AR & apTae d B rfaEa F @ R o & st ad 32 Chosen Option :3
Accepting deposit

|, STAT TR PR A=A

Offering remittance facility

, e 99T Giaend gere e

Distributing simple insurance products

3. ATIROT J1AT 3ca1G1 &l faaor S

Lending money
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Q.62 The total amount of interest received on two deposits of Rs. 5,000 for 4 years and Rs. 4,000 for 5
years, made at the same simple rate of interest per annum was Rs. 2 400. Find the rate of interest

per annum.

Question,

ID:

Status :Answered
Chosen

9888374561

4 a¥ & forv 5000 ¥ T 5 a¥ & foiw 4000 Fr F#AT UfETAT W ATIROT AT Hr Option :*
Uh AW alfid T @ W A 2,400 TR F wara AfR grea @dr §) arfie sare

#T gt AT HITATI
Ans 1. 4%
2. T%
'3 6%
4, 8%

Q.63 According to experts, raging forest fires that took place in Uttarakhand recently have caused the

formation of

Question,
D :9888374505

Status :Answered

faRlwaAl & (AR, grel @ H 3cal@s & Sidrell H el GHUUS 3P & FRUT Chosen

F1 f#ToT g3 B
Phosphorous

L‘FI'F‘FTFH

Black Carbon

V') ol FIEe
Carbon Nanotubes

Fleledl Adlcga
Sulphur
4, el

Ans

Q.64 A pre-independence era bunker was discovered in August 2016 at the Raj Bhavan in

T 2016 &

9IAT T

Gujarat

1. 5 5
Arunachal Pradesh

5 3TRUTEA 9ERT
Maharashtra

V'3, HERISE

Tamil Nadu

4 g

Ans

gl

Q.65 The escape velocity on the Earth's surface 1s about
qod] 1 Fdg T Tellhel ddT earswT
13.8 km/sec

1. 13.8 freiaes
11.2 km/sec

V) 11.2 fFdass
213 km/sec

3 21.3 Tpdvdss
4 3 km/sec

4. 4.3 TReREs
Q.66 Indra Nooyi, an Indian origin leader, 1s associated with
AR A $1 wk el Afgen U 72
IBM
Ans N Eﬂ'é' & uw
PepsiCo

v goieRr

Ans
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ﬁﬁaﬁﬁ%l

Option :

- Question

D :9888374489

F USAHaT # TadAdr 9itd O Ugel A UF g9 Status VOt

"Attempted
Chosen
Option :

Question ID :9888374521
Status :Answered
él Chosen Option :2

Question ID :9888374515
Status :Answered
Chosen Option :2
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CocaCola
3. SIT Pl

Microsoft
4 FTSHIATE

Q.67 Which of the following Indian States does NOT share an international border? Question ID :9888374496

Breet & ¥ Frd ST T B DT FAWERT W F F A T chosen ongon
West Bengal
1. 9IRTA darrer

Haryana

-(z_aﬁawn

Himachal Pradesh

5 feomae uear

Punjab

4, 94T
Q.68 IfEAR =24 and EYE = 35, then LEG =7 Question ID :9888374582

. Status :Answered
afg EAR = 24 ©d EYE = 35 §, d LEG = 7 Chosen Option -1
Ans ¥ 24

2. 25
3. 22

4. 23
Q.69 Which of the following 1s NOT a characteristic of the ‘wave’? Question ID :9888374524

= — Status :Answered
# @ Far qor S s el %Q Chosen Option :3
Wavelength

. AEIGE
Amplitude

2. AMEH
Frequency

3, 3 fee

Medium
V4 ATeIH
Q.70 If fire 1s called ice, ice 1g called sky, sky 1s called fire and water 15 called rain, then where do birds Question,
fly? ID:
y Status :Answered

Afe 39T Y %, b I ITHIRM, AR F AT AT arelt F arfier wgr aar g, ar Chosen,

At Wﬂ =it g_? Option :
Air
1. &4l
Water
2. el
Fire
v 3. HIET
Sky
4. FTHIA
Q.71 Find the increase in circumference of a circle of radius 14 em, if the radius is increased by 7 cm. Question
22 ID:
(m= 7) Status :Answered

14 ¥ B ared s gea 1 R F afy Aa AR, afy Bear & 7 @ &y Chosen

Option :
afe #r sl &1 =)
44 cm

Ans
' aa T
22 cm

5 22 8T
66 cm

3 66 A

Ans

Ans

9888374584

Ans

9888374570

16
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88 cm
4. 88 AT
Q72 The value of which one of the following fractions falls in between Zandlo Question ID :9888374542
5 g Status :Answered
3 7 Chosen Option :2
- z z ?
ﬁmﬁrﬁaﬁﬁﬁﬁam@ﬁrsmﬁaﬁﬂﬁm%.
A 8
ns L3
i
v, 7
12
3. 13
4
4. 7
Q.73 Antimatter particles corresponding to electrons are called . Question ID :9888374519
w Status :Answered
Soldgldd & dAded Fidged HUll @l el Sl gl Chosen Option :4
Neutrons
Ans w
. LI
Protons
2. rele
Antielectron
3, TaIgeiagla
Positrons
o 4 gifdgrT
Q.74 Bvaluate: S730 , 5inds Question ID :9888374571
" cos45 cos30 Status :Answered
Teaiea fsyy. S8, sinds Chosen Option :3
o, T cos45 X cos30
V2
Ans -
V3
2
2. V3
1
V3 V3
1
4 V2
Q.75 Which of the following is NOT true with reference to a real number? Question ID :9888374540
_ . Status :Answered
ferafrad 1 & Fla-a1 Fua vk aRdiad TEAT F e A T AL 2 Chosen Option :4
All irrational numbers are real numbers
Ans

| Gsl IR ded aRdfas JE g
v

A real number need not necessarily be a point on the number line

TF ardiasd T & foU dEar Wr W o Afart [§g g Araas w967 g

A Real number is unique

5 T arEdide HEAr gfadia gidh 8

All rational numbers are real numbers

4 T3 ORHT dEAU adias GEa g

Q.76 If (2a/m + b/n) = 2 and (a/m — b/n) = 4, find the values of ‘a’ and *b’ respectively. Question ID :9888374569

Status :Answered
Il (2a/m + bin)= 2T (afm —b/n)=4 §, AT FAA: ‘a AT ‘b" & A AT BIAT | cphosen Option,

Ans i_fl. 2m, -2n

7. -2n,2m
3. 2m, 2n
4, -2m, 2n
Q.77 If two-third of three-fifth of a number is 42 find one-third of that number. Question ID :9888374549
afy ue TEar F 3/5 & of AR 42 E, & 3T I & uE Qe A fifS) Status :Answered

Chosen Option :4
17
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Ans 1 40
3. 45
¥4 35
Q.78 The principle of gyroscope is NOT used in a . Question ID :9888374522
) Status :Not Attempted
MSUEHIT & FAgid 1 93T # g7 foram A P

Chosen Option :--
Computer mouse
| e A3
Smart Phone
5. TATE Bl
Inkjet printers
V3, §Eic T
Racing car
4. T FR
Q.79 Find the mode of the following data: Question ID :9888374573

Status :Answered
100, 120, 110, 90, 120, 140, 130, 120, 110, 100, 90, 140, 120, 100 Chosen Option :2

ﬁmﬁ‘@ﬁmﬂa—gﬂiﬁmﬁﬁm:

100, 120, 110, 90, 120, 140, 130, 120,110, 100, 90, 140, 120, 100
Ans 1. 100
v 120
3. 90

4, 140
Q.80 Find the discount in percentage, if a book whose marked price is Rs.90 is sold for Rs 76. Question IDgeee374551

e (Ffdera #) 7 Fif5w, afe 90 5. 3ifFa Aeg #1 o6 FaE 76 5 & SO I g - Answered

%I Chosen
Option :

Ans

Ans 1. 14.65%
¥5 1556 %
3. 13.45%

4. 1475 %
Comprehension:

18
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Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
IT, 11T and the respective percentages of such hinng from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
III 1500 32 20 25 23

HFateliaa arfeis &1 3egas &1 H# A 6w v gear
I 3cal Gl

alferel F 3 orl f o Ger afEe § e s

Fafert 1, Il 11l gawr o am=m &, @nr & st P, Q, R
dem S & v v wEn & widerd off oar mar g

EEL fore @ P Q R S
; s Y
Faet ) (%) | (%) [(%) [(%)
&
| 1800 24 32 28 16
] 2400 27 30 25 18
Il 1500 32 20 25 23
SubQuestion No : 81
Q.81 ;U];;I;Iilsdﬂ;i total number of students hired by Company II from Colleges Quesggr?9888374606
: - T Status :A d
9=l || GaRT Hielet P, R @ar S @ faw amv ot 1 $o Opans AnSwere
TE& fohder g7 Option :
Ans 1. 1752
2. 1800
3. 1968
¥4 1680
Comprehension:
19
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Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
IT, 11T and the respective percentages of such hinng from colleges P, Q. R

and S.

IT Company | No. of P Q R S
students hired (%) (%) (%) (%)

I 1800 24 32 28 16

I 2400 27 30 25 18

III 1500 32 20 25 23

HFateliaa arfeis &1 3egas &1 H# A 6w v gear
I 3cal Gl

difelesl & 3 ol #1 Fo dear aiffde § Geg sd
Fafert 1, Il 11l gawr o am=m &, @nr & st P, Q, R
dem S & v v wEn & widerd off oar mar g

IES e v P Q R S
. oE #Y
&t ) (%) | (%) [(%) [(%)
HE
I 1800 24 32 28 16
| 2400 27 30 25 18
1l 1500 32 20 25 23
SubQuestion No : 82
Q.82 Find the difference between the number of students hired by Companies 11 Questi0n9888374607
and IIT from College R < D :A |
; ; o . tatus :
Fuell |l T Il g@rr @ielel R & ToIU a0 oAl & Jeansit Chosan Ve
FT AT T §7 Option :
Ans 1. 200
2. 220
3. 210
vy 225
Comprehension:
2C
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Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
IT, 11T and the respective percentages of such hinng from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
III 1500 32 20 25 23

HFateliaa arfeis &1 3egas &1 H# A 6w v gear
I 3cal Gl

alferel F 3 orl f o Ger afEe § e s

Fafert 1, Il 11l gawr o am=m &, @nr & st P, Q, R
dem S & v v wEn & widerd off oar mar g

IES e v P Q R S
. oE #Y
Faer ) (%) (%) |(%) |(%)
&G
I 1800 24 32 28 16
| 2400 27 30 25 18
1l 1500 32 20 25 23
SubQuestion No : 83
Q.83 How many more students did all the three companies together hire from Question9888374604
College P in comparison with College 57 < ID :A .
o v - tatus :
Ficlst S &1 erelr & wietst P & oAl F9fadl o For fohce Chosan Ve
o o e §2 Option ;
Ans | 495
2. 510
3. 480
4, 535
Comprehension:
21
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Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
IT, 11T and the respective percentages of such hinng from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
I 2400 27 30 25 18
III 1500 32 20 25 23

HFateliaa arfeis &1 3egas &1 H# A 6w v gear
I 3cal Gl

difelesl & 3 ol #1 Fo dear aiffde § Geg sd
Fafert 1, Il 11l gawr o am=m &, @nr & st P, Q, R
dem S & v v wEn & widerd off oar mar g

IES e v P Q R S

et A | |G [
|E&r

| 1800 24 32 28 16

Il 2400 27 30 29 18

1] 1500 32 20 29 23

SubQuestion No : 84
Q.84 What 1s the difference between the number of students hired by Company
IIT from College P and that hired by Company I from College Q7

Fuell Il G@RT &ierad P & fow arw 3R Sl | garr siear
Q @ oI are orE & dEanst &1 3aw a4 g7
Ans 1. 118
v 96
3,132

4. 124
Q.85 The famous Brihadeeswara Temple is located in

gffg gedrat AT # feud Bl

Telangana

GGG

Tamil Nadu

, difieiag

p

Kerala
3 el

Karnataka

4. Felcd
Q.86 lake is one of the largest fresh water lakes in Asia

Ans

sfra ufern &1 @9d 991 aret =T 6 sf|t 7 °@ o g

Vembanad

Ans
| dFaArE

22

Question
D :9888374605
Status :Answered
Chosen
Option :

Question ID :9888374517
Status :Answered
Chosen Option :2

Question ID :9888374495
Status :Answered
Chosen Option :4
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Sambhar
2. @Y
Chilika
3. Wular"
S S

Q.87 A Statement followed by some conclusions is given below. Question ID :9888374597
Status :Answered

Statement: Adversity is the best teacher. Chosen Option :1

Conclusions:

I.  Poor people are learned.

II.  Adversity provides opportunities to learn.
Find which of the given conclusions logically follows from the given
statement.

U Fud 338G Fo Hvwd @ g o @ E
Faar: Yidsher TRFAT wad sear Qe )
IGA: T

I. ol sofeg f@Ifea g1 2l
Il wfowa ofifeafa des F @ voe 3t g
Fla-ar fasey aifs § & QU 70 FUaT &7 Gref= Har gl

Only conclusion I follows
V| Fad sy || aree S §
Neither I nor IT follows
o, St | & &Il arelel &ear &
Only conclusion I follows
5. hael sy | 9ol HLar
Both I and IT follow

4, 1 3N Gl arereT & §

Comprehension:
In a group of 85 persons, 45 read novels and 37 read poems and 8 do not
read either novels or poems.

85 caffaal & UF THg A 45 @1 39S Yed &, 37
Ffaat ged & aur & 7 a 39=aE 3R 7 & FHfaard gea

Ans

gl
SubQuestion No : 88
Q.88 Find the number -:-:fpersons who read either novels or poems. Ques;gn?9888374601
3 AR T HEAr A S A d 3Tear AT A Gl Status :Answered
i‘;nrl Chosen
Option :
Ans ™| 77 pron
2. 82
3. 45
4,53
Comprehension:
In a group of 85 persons, 45 read novels and 37 read poems and 8 do not
read either novels or poems.
85 caffdal & us @Hg & 45 @1 394 ded &, 37
HfFart ved §, dw 8 7 o 9= AR o & HfEand ged
gl
SubQuestion No : 89
Q89 Questiongeee374602

ID:
23
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Find the number of persons who read both novels and poems. Status :Answered
- or ter Ch
Ans 3o @igh 1 FEar sad S syeaw 3R FRa get ged Option
g1 2.7
3.8
v 4.5
Q.90 111 Russian, 407 Chinese and 259 Japanese tourists have assembled at a place. Identical batches Question988837 4544
containing the same number of persons from each nationality has to be formed without leaving ID:
Status :Answered

out anybody. Find the total number of persons in each batch. Chosen

111w;40?€ﬂﬁﬁm25961mﬁhﬁwaﬂ1gwuiﬁﬁa‘§qﬁ| afg fedr &t Opti0n:2
=TFd FI B2 &1 09 AT o 910 aid ¢ 19 8¢ gof & U Tadl & edigaar

T TEAT AT T@, ol Godh gol H AfFadl T el HEAT AT ey
Ans 1. 18
v 21
3.10
4. 14
Q.91 assumed charge as the Governor of the Reserve Bank of India in September 2016. Question988837 4514
- ID:
o Rdet 2016 A s Red d & @l & ®9 A SRAAT TEUT g6 - Answered
e _ Ocpli‘i)jf?
Dr. A Panagariya '
Ans o
1. 3L U, geariear
Dr. Rakesh Mohan
5 BT T HAige

Dr. Raghuram Rajan
; ST TGTH Tt
Dr. Uit R. Patel

v, 31 3T8d AR wew

Q.92 The amount of simple interest on a deposit of Rs. 8 500 for 3 years 1s Rs. 2, 040. Find the rate of  Question,
D 9888374564

Status :Answered

STAT 1 IR 8,500 T i Y FT 3 aF H HUROT ;ST 2,040 FIA §I TS F Chosen,
Option :
arfiie &y Al Hifarw)
Ans o 1. 8%
2.85%
3.9%
4. 7.5 %
Q.93 The peripheral devices of a basic computer system does NOT include the: Question ID :9888374527
- Status :Answered
U gAarer Feged fred 1 9w Bagdr # g arfAe @97 gian Chosen Option 4
Printer
1. R
Keyboard
) FI-aEE
Monitor

3, Alfele
CPU
Vv

Q.94 Question ID :9888374598
Status :Answered
Chosen Option :3

interest per annum.

24
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Statements:

I All the dogs are black.
II.  All the cats are white.
Study the above statements and select the appropriate answer option based
on them.

@Ae: All the animals are either black or white.
Ans !
| Gl SAeaT A1 ar Tl AT J9e g

I TR T I TR T [ Ty P e |

No animal 15 brown.

II.Z_aﬂéamaTslTraﬁTm

WSome animals are black and some are white. T 9T m;ﬁ_r
, 6 S Fe 3N FE a9 B

.\_,1\-!‘| omvna

No amimal 1s black and white.

4 P SATaX Frem I e 72T Bl

Q.95 Who was the Speaker of the first Lok Sabha? Question ID :9888374509
Status :Answered

TqH WIhTHAT AT Pl A2 Chosen Option :2
M. N. Kaul

. UH. U, &iel
G. V. Mavalankar
v, i1 1. AgeT
M. A Ayyangar

3 UH. U, HREEIN
Sardar Hukam Singh

4_W§$ﬁﬁ%’

Q.96 Which of the following group of rulers was NOT called “Sultans™? Question ID :9888374499
Status :Answered

T A & & 937 & ArEF F Geald' dal Hel SAdr A7 Chosen Option -3
A Lodis
ns
1. @ al
Khiljis
2. f@ersit
Mughals
E
Tughlags
4. 3

Q.97 Which of the following species 1s also called the ‘Kashmir Deer’? Question ID :9888374507
Status :Answered

ot # & fhg gonnid &1 Felr fgxor sf agr sirar 87 Chosen Option :1

Hangul
Ans -
v B

Barasingha

o, arfEET

Sangai

3, TS
Cheetal
4, didel
Q.98 Question ID :9888374610

Status :Answered
Chosen Option :4

Ans

25
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Statemront - ) . .
Those who cannot appreciate music become mathematicians.

Ans TOVIESS S @Y ofig Y TEST AT @i, & AOaA 99 S
Which
gl

Majority of the mathematicians are not good musicians.

sfifapg JTTEIRT AT IS FHTA G & & 57 a1 @)

No musician can become a mathematician.

5. FIE off Ticar o AT e aF Fhel ¢
= Music and mathematics do not go together. T E'?
o 4 d@3fa 3R S1fTa v | A8 Fed|

Q.99 Which team won the Copa America 2016 Football Championship? Question 1D :9888374503
Status :Answered

leT-T & Pediel IAaIETar ST 7ARET 2016 & Brgerer & fdeian W@r? Chosen Option -1
Argentina
1, HSAET
UsA
, TGFd AT ARG
Colombia

3. IdTEaar
Chile

v, e

Q.100 “‘RailTel Corporation’ 1s a } Question ID :9888374536
Status :Not Attempted

{eTcel HRUN Uh Bl Chosen Option :--

Private Sector Enterprise

Ans

| Tt & &1 3qEe

Public Sector Undertaking
V) OrdSITeF &7F & 3Uha

Partnership Firm

3. 9ISl @ cgadr
Joint Sector Enterprise

, YT &1F STHA

Q.101 A 1s Qs sister. C1s Q's Mother. P 1s C's father. E 15 P’s mother. How 15 Q Question ID :9888374591
related to P? Status :Answered

AQfrsgagl CQ®HR AT P C &1 fAar gl E P #r &f Chosen Option :2
¥l "art & Q P s w2 §?

Daughter

1. ST

Cannot be determined
, el gt frar s @ &
Grandson

3. drdr

Granddaughter

4, @It

Q.102 Identify the professional Indian shooter from the following options. Question ID :9888374504
Status :Not Attempted

ﬁm W ﬁ ﬁ- &Qm ﬂm ﬁam\_ﬂ- Qﬁ- anIE | Chosen Option -
Sudha Singh
Al :
ns N ﬁm ﬁ_ﬂ-

Shivani Katariya

2. TRraret Feafn
Anjali Bhagwat

V'3 3fafer smTaa

Ans

Ans

26
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Lalita Babar

4_ﬂ1%IF|TEI'IER"

Q.103 Which of the following is the most appropriate description of INS Arihant?

S oA v ARG W= 7 9 Far 87

Submarine

Ans | Tegsdr

g

Indian Navy base

Frigate
3 I&-ard
Aircraft Carrier

4 TaAA-aE® 9d

Q.104 The sum of two positive integers i1s 42 and their difference 1s 4. Find their product.
&l eelcAs qUITehl T TRTHel 42 TAT 3 4 §1 ST AUTADel Ad DT

Ans 1. 402
v, 437

3. 416

4. 376

Q.105 The length of a rectangular board is 4 times that of its breadth. If the area of the board is 256 sq Question

meters, find its length.

Question ID :9888374490
Status :Answered
Chosen Option :1

Question ID :9888374541
Status :Answered
Chosen Option :2

D :9888374554

Status :Answered

UF IRAGER FIS T o SEH A 4 T @1 ARG S1S FTAADA 256 I Chosen,

Hreq &, ar 3gdr s Ag e

8m

1. 8 HT
16 m

5 16 HT
24 m

3. 24 H
32m

'_(4_ 32 7T
Q.106 Total solar eclipse occurs when .
Ty AT gaTe S
the Moon is farthest from Earth
Ans | T gl & Sl gff WA
. the Moon enters the Earth's shadow
, TGHT gl FT BT A gAT B
the Sun, Moon and Earth are in a direct line
3 I, T 3R gedt vk dedt @ A gl

the Sun, Moon and Earth are not exactly lined up

, T, o AR et v el T & ar a
Q.107 High tide : Sea :: ? : River
SAR-ATET - |Hg = ?: w4l
Datn
|, arer
Hydroelectricity
YCICEEC])
Bank
EEGIEY
Undercurrent

R LV EI

Ans

Ans

Q.108
27

Option :

Question ID :9888374520
Status :Answered
Chosen Option :3

Question ID :9888374575
Status :Answered
Chosen Option :4

Question ID :9888374497
Status :Answered
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Which fﬁl}l{l Hld?l‘llljglwmg piece of literature was NOT written in Sanskrit? Chosen Option :1

Ans ﬁ}—?[ﬁﬁ@ﬂ fr anfefeas fa deea & =g =g 22
Ratnavali
2. Teerged!
Rajatarangini
3. Tsta o

Meghdoot

,, e

Q.109 Select the correct combination of mathematical signs from the options given to replace # signs Question IDgeee374536

in order to get a balanced equation : :
Status :Answered

14292371946 Ch(')sen
fgu 1w faereul & AT FHeal &1 @el @it gasd # e @l ggel 3 vF Option :
dfera w#ietor gred g«
14#9#3#19#6
Ans 1.+ =+ —
2.+ X =+
30—+ =
J4 = X — <+
Q.110 Speed of a boat in still water i3 12 kmph and that of the current is 3 kmph. A man rows a boat Question988837 4560
upstream up to 135 km and returns downstream to the starting point. Find the total time taken for ID:

. : Status :Answered
the entire journey in hours.
) Chosen

T AT ET T ofer & ATer 12 fraeer & @ ey #7 Aner 3 fyEer ¥ ua Option:'
cafFd ara @ arn & gfage Bar 7 135 B a6 st o 1 saha e ged
BU # g f9g oX 19w ol AT @1 Q0 A F T e A o gAT 5 A
EIGECIIE ]
Ans ¥ 24
2. 48

3. 36

4. 30
Q.111 Human hypothalamus gland . Question ID :9888374525

A Status :Answered
AT gEWEeRT AT g gl Chosen Option :3

lies just below the stomach

| 3T & OF A

lies 1n the lower part of neck

) T & Forae R

is present in the brain

V3 #fEgss 7 3uffag
1s attached to the wind pipe

4, ¥R el A S

Q.112 Find the value of *?” in the following series. Question ID :9888374578
Status :Answered
6:30::7:7? Chosen Option :4

fr=fef@da s@en d 2 &1 71 &6

Ans

6:30:7:7
Ans 1. 56
2. 49
3. 35
vy 42

Q.113 o8 Question ID :9888374553
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Find the area of a triangle whose sides are 5 cm, 12 em and 13 cm. Status :Answered

- . Chosen Option :3
57 346500 gy Fq PfST ST aom? 5 A, 12 IR 13 39 T ’
|, 46 T3 THT
42 5q. cm

5 42 3 [T
30 sq. cm

V'3 30T @Y

38 sq. cm

4 38 T AT

Q.114 Indian Space Research Organization was formed in Question ID :9888374531

_ } ] - Status :Answered
AR AN el HIod & €A H H1 715 o) Chosen Option -1
Ans ¥ 1969

2. 1962
3.1971

4. 1975

Q.115 The speed of car M is twice that of car W. If car M covers 120 ki in 2 hrs & 30 mins, what is the QueSti0n9888374558
speed of car W? ID:
Status :Answered

PRM FT a6 FR W HT a1 F QEFT 61 G PR M 2 9¢ 3 30 fAee 7 120 Chosen,
fereft &1 gt aF Lt §, df I W °rer a1 §? Option
36 kmph

1. 36 TehHI/EET
48 kmph

> 48 fRdAEer
24 kmph

V'3 24 fopHI/EeEr
42 kmph

4. 42 TepHAI/EeT
Q.116 *RaillWire’ 1z related to: Question ID :9888374538
EGLITE %. Sta.tus :Answered
) Ch Option :3
Brand name of a cable osenption
1. Weh hadl & s
Fencing of railway stations

z,mﬁi’m’fﬁm

Railway electrification

;. Yerd faegchieton

Railway broadband service

vy tord disds dar

Q.117 In which of the following countries did United Kingdom®s rule formally end in the year 19867 Question
S J J D 19888374492

T 7 & o gar & g 1986 & ZIEIE?? feharsA @1 arEe JaaiE &9 § AT Status :Answered

Chosen
§3ﬂ? Option :3
Australia

Ans o
vy, sifeeferm
Sr1Lanka
2. HclehT
Maldives

3. Aelcrd
Canada
4. ThellaT
Q.118 Question ID :9888374577
Status :Answered
Chosen Option :1

Ans

Ans

Ans

29
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What will be the next number in the series?

< 35,67 123,214,?
Ans W7 341 i
W;?m qear #7211 gef?

6, 35 0y, 123, 214, ?
4. 292
24 E

Q.119 Find the value of £ in 28 =k
217 9 13

g:%::k:gﬁkaﬂﬂmmfﬁrﬁm

Ans

N
e N B o B

Vs,

4.3
Q.120 Which one of the following is NOT a correct description of median?

faafa@a 7 ¥ sia-ar s mfCaer &1 g fGagor =67 2

It 1s not affected by extreme values.

| T8 TXHA AEE I gead J1 gidr e

For odd number of values (n), median 1s (n+1)/2.

» HE (n) 1 A FEA1 & v AfCgwT (a+1)2 g
It 15 based on all observations of data.

V3 Ig 3ifEst & @l derolt W menRa g 2

It can be determined graphically.

4. 5 @ik @ AuiRa far s awar g

Ans

30

Question ID :9888374547
Status :Answered
Chosen Option :3

Question ID :9888374572
Status :Not Attempted
Chosen Option :--
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